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Answer ALL questions.
Write your answers in the spaces provided.

You must write down all the stages in your working.

. 7 i
Write 100 as a decimal.

Write down a multiple of 6 that is between 40 and 50

(Total for Question 2 is 1 mark)

(a) Simplify 3f x 5g

(b) Simplify ¢ x ¢

2n + 6n {g

1}

(¢) Simplify

oS

(Total for Question 3 is 3 marks)
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Ken buys some fruit.

He buys apples, bananas, peaches and oranges.
Ken buys

4 apples weighing 125 geach %125 = Soo
2 bananas  weighing 170 geach ZxINoe = 3
3 peaches  weighing 135 geach 3 xI3S = 40§

Each orange has a weight of 90 g. e

The fruit has a total weight of 1.785 kg. < I 85'\9,

(a) Work out how many oranges Ken buys.

I8 - 14 $ = S40q
Jo %s

—

o

Jane wants to buy 15 tomatoes.
She asks for 1 kg of tomatoes at a shop.
Jane assumes that each tomato has a weight of 75 g.

(b) (1) If Jane’s assumption is correct, will she get 15 tomatoes?
You must show how you get your answer.

(S % 18 = If?.S’j

llzg = /0%0\7 S TR e T Ce T IS
“TorMATOET

(11) If Jane’s assumption is not correct, could she get 15 tomatoes?
Justify your answer.

VNS ¢
MES I CAH TodTo  WEIHED —c = lolﬁaj AT

........................... e e R S S e \ RIS Lo e

(Total for Question 4 is 6 marks)
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5 60 students were asked how they get to school.

The table shows the results.

Bus Walk Car Bicycle
Number of students 15 27 12 6
' s ﬁ 55 iz e
(a) What fraction of the 60 students did not walk t© school? ~ ©° b=
bo \ & v
Ll Zo
(‘\r‘ 3’,5/ §
bo

(b) Complete the pie chart for the information in the table.

5 o
bo STAENTE = R&66° 1, Bos Ao

WAMY CIHT NEIHMAR 1AL

, o Qi LAWK \b2”
UL STode~RT = b Al 177
Qs 26°

ZBhor

(Total for Question S is 6 marks)
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6 + Annie and Lily share some money in the ratio 4 : 3

(a) What fraction of the money does Lily get?

Rosie and Dan share some sweets.

Dan gets L of the sweets.

(b) Write down the ratio of the number of sweets Rosie gets to the number of sweets Dan gets.

(Total for Question 6 is 2 marks)

7 Steve says,

“There are more prime numbers between 20 and 30
than there are between 10 and 20”

Is Steve right?
You must show how you get your answer.

lo ~20 it‘l‘B’ \'7le(

Lo=Bs = 2329

Stevs (8 l;.)ff;‘AQl |

(Total for Question 7 is 2 marks)
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8 Chrissy drew this graph to show the percentage of buses that got to a bus stop on time
for six months.
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(a) Write down one thing that is wrong with the graph.  (/22TicpAe Jeprs 1S N9 T

LANERR |

(Total for Question 8 is 2 marks)
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9 Here is a map of an island.

Diagram accurately drawn

Backley

Cremford

Scale: 1 cm represents 0.5 km

A straight road joins the two villages, Backley and Cremford.

(a) Work out the real distance between the two villages.

9« St (AR AR

2.75

e km

(b) Find the bearing of Cremford from Backley.

(Total for Question 9 is 3 marks)

7



10 The diagram shows two shapes drawn on a centimetre grid.

Fon ¥ |

Fak

S Easaan
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-
-
f

(a) Find the area of shape P.

( e
-~ K -
2 W x &

(b) Write down the mathematical name of quadrilateral Q.

MY

(Total for Question 10 is 3 marks)
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11 The table shows a cricket club’s income in 2016 from a fete, a quiz and membership fees.

Income
Fete £250
Quiz Entry fees 13 at £5 each Sxi3 = b5
Refreshments £35 LS55 = (60 ’
Membership fees 25 at £20 each 285

= SO0

Express as a ratio

the income from the fete to the income from the quiz to the income from membership fees.

Give your ratio in its simplest form.

Qng’ZC(O

(Total for Question 11 is 3 marks)

2
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12 200 people live in a village.

23 people do not have a garden.
10 males do not have a garden.
95 people are male.

(a) Use this information to complete the frequency tree.

do not have a
garden

female

do have a
garden

male

female

One of the people who does not have a garden is chosen at random.

(b) Write down the probability that this person is female.

(Total for Question 12 is 5 marks)

10
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13 Ellie makes hats.

She makes at least 17 hats per hour. / L~ )3 A5 (o
She is paid 46p for each hat she makes. Tx ZQP

Reaze is a waiter. L
He works 35 hours and is paid a total of £266 Qél’ —’7 3‘3— = é’?‘ o0 & 7é 070

PE'\Z H’\)i}g

Show that Ellie’s hourly rate of pay is more than Reaze’s hourly rate of pay.

" aue's Mooy {aTs s AT e Hooe Mols |

-~ -

(Total for Question 13 is 3 marks)

11



14 « and b are odd numbers.

(a) Give an example to show that the value of 2(a + b) is a multiple of 4

o = 3
= 5 CL%:Q-&J:EZ

7v«2 = b

1L s A MuChie of G
(T 18 THe (0 Toue Tmzw)

(b) Show that, when a and b are both odd numbers, the value of 2(a + b) will always be a
multiple of 4

oM + odf = EVEN = 2 TM&S TARLE
I« EVEM = U Tim&s Talas

_ (Total for Question 14 is 4 marks)
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15 Mr Page uses oil to heat his home.
At the beginning of November there were 1000 litres of oil in his oil tank.

Mr Page bought enough oil to fill the tank completely.
He paid 50p per litre for this oil.
He paid a total amount of £750

At the end of February Mr Page had 600 litres of oil in the tank.
He bought enough oil to fill the tank completely.
The cost of oil had increased by 4%.

Work out the total amount Mr Page paid for the oil he bought in February.

Nowsmed ;e €750 Ant Plice = Sop fer UTRE
' RoverT IS00 LITEET

Thele peRs AurenrdyY (000 ULITRES IN HIS TANK
' Tadk Hos RESvo UTRES

Famum~y 1 bos LiTkes 1N Tad L pesr Tp Loy
(G00 wTREs

Neo fles = [-oux SO = S2p Per UTke

o Feaps (TR0 x S22 G8800P
= £ Gq88

(Total for Question 15 is 5 marks)
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16 Solve 5x —6=3(x—1)

So-b= B -1
29 = 3

p[e = @/q_y

(or 5 or 1LS)

(Total for Question 16 is 3 marks)

17 Emily buys a pack of 12 bottles of water.
The pack costs £5.64

Emily sells all 12 bottles for 50p each. | Z % SQP - £l

Work out Emily’s percentage profit.
Give your answer correct to 1 decimal place.

Propv = b- S.og = BLp PR Wmie

(7Q {J(LDQVT = BL w OO = 8 8%2’0‘%
St

BT 2

(Total for Question 17 is 3 marks)
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18 Hasmeet walks once round a circle with diameter 80 metres.

There are 8 points equally spaced on the circumference of the circle.

(a) Find the distance Hasmeet walks between one point and the next point.

¢ = md = TTx 30O

VSTARLs Remiesny PIATS = TTx 8D - Twx 10
£

,,,,,,,,,,,,,,,,,, g\°+m

Four of the points are moved, as shown in the diagram below.

H A

Hasmeet walks once round the circle again.

(b) Has the mean distance that Hasmeet walks between one point and the next point changed?
You must give a reason for your answer.

(Total for Question 18 is 3 marks)
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19 There are only blue cubes, yellow cubes and green cubes in a bag.

There are

twice as many blue cubes as yellow cubes
and  four times as many green cubes as blue cubes.

Hannah takes at random a cube from the bag.

Work out the probability that Hannah takes a yellow cube.

Suphrs (Y EHDL

," 2 L oS
R Cles~y
[ 1

(Total for Question 19 is 3 marks)
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20

(a) Rotate trapezium T 180° about the origin.
Label the new trapezium A.

-1
(b) Translate trapezium T by the vector ( J
Label the new trapezium B. B

(Total for Question 20 is 2 marks)

A0 0 A 0 0

17
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21 pPxp*=p°

(a) Find the value of x.

GFOL': C\

(72))‘ s 7!0
(b) Find the value of y.

7/5:\0

100° x IOOOb can be written in the form 10"

(¢) Show that w=2a + 3b

G
oY = IO 5
) 2.4 N
,,\Q:Oc\"-'. ((O) = (0

lood = (S

2\? -;%b
. [000‘0 = (‘0 ) == Av
XN 4> b

IQ M lo =—3 (\’

Q&4.'3‘L,—;Ird

18

(Total for Question 21 is 4 marks)

O 0



22 ABCD is a trapezium.

10cm >

B @
i l .
7.50m/ - b | Anlls CDA- .
- l
=== e o

Work out the size of angle CDA.
Give your answer correct to 1 decimal place.

4=

Ne S-S
" x 228 =+ Sem

Y= @i = Q5 e

ton CHA = b

S, 5
,, _ b
CAA = +'C'\/\\ q/g>
- R2.3°

(Total for Question 22 is 5 marks)
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sin 25° + sin 40° ”ﬁ 0 6S4058%7)

23 Use your calculator to work out \/
c0s25° — c0s40° O 1 0orbBBYL

(a) Write down all the figures on your calculator display.

(b) Write your answer to part (a) correct to 2 decimal places.

(Total for Question 23 is 3 marks)
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U NOUL WRITE IN THIS AREA

24 (a) Solve 2x* =172

70: %0

pIS :_“_‘_

b

(b) Expand and simplify (2x + 1)(3x — 2)
\d’/

-

X2 EG
A\ '
.
é”L g gac - 7
é’)L&-—’)L — T _
b= =

(c) Factorise x> + 6x + 9

(kR

)K\

2

e haes)

(x+3)(x+3)
< o (x h’?)q')

(Total for Question 24 is 5 marks)

TOTAL FOR PAPER IS 80 MARKS
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